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Question Number : 1 Question Id : 25498943281 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
LINUX is:

Options :

1. * an application software

2. % an assembler



3. ¥ an operating system
4. ® 3 DBMS software

Question Number : 1 Question Id : 25498943281 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
LINUX &1 §?

Options :

1. % Uh TR AU

2. % TP THIR

3. ¢ T QRIS Reew

4. % U SISTHATYH AR

Question Number : 2 Question Id : 25498943283 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

With respect to computer keyboard, ‘Prt Scrn’ is an abbreviation for:
Options :

1. ® Print Scene

2. ¥ Print Screen

3. # Print Sign

4. ® Port Scan

Question Number : 2 Question Id : 25498943283 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
HYR PIaIS b JaY T, Prt Ser’ fh et T A g2
Options :

1. % Print Scene (flic M)
2. ¢ Print Screen (fUie E’ﬂ:f)

3. % Print Sign (flic 91E9)



4. % Port Scan (tﬁ_c£ @7_*[)

Question Number : 3 Question Id : 25498943288 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

By using which tab can you add a footnote in an OpenOffice writer?
Options :

1. % View

2. ¥ Insert

3. % Edit

4. % File

Question Number : 3 Question Id : 25498943288 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

{2 T ITUNT FRb 3T 31U 3H1hY AR (OpenOffice writer) H W SIS gad 87
Options :

1. ® g

2. ¥ 3L

3. % Ufge

4. % lgd

Question Number : 4 Question Id : 25498943298 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Primary memory is also known as memory.
Options :

1. ¥ internal

2. # external

3. % concept

4. % vyirtual



Question Number : 4 Question Id : 25498943298 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

TSH AR B TR & EU H ST e 6
Options :

1. ¢ S (internal)

2. % TaeAd (external)

3. % SOy (concept)

4. % TYIT (virtual)

Question Number : 5 Question Id : 25498943347 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

How much data can be stored on a dual-layer Blu-ray Disc?
Options :

1. % 45GB

2. % 52GB

3. ¥ 50 GB

4. % 40 GB

Question Number : 5 Question Id : 25498943347 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

390 R X 3% H fbdT SeT @R fobar ST Tt 22
Options :

1. % 45GB

2. % 52GB

3. ¥ 50 GB

4. % 40 GB



Question Number : 6 Question Id : 25498943349 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Capacitor touch sensors are classified into type(s).
Options :

1. # one

2. ¥ two

3. % three

4. % four

Question Number : 6 Question Id : 25498943349 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
PUIRRIIR USRI ST
Options :

1. % Th

2.3

3. % diF

4, % IR

Question Number : 7 Question Id : 25498943285 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

In which language is mnemonics codes are used?
Options :

1. ¥ Machine language

2. ¥ Assembly language

3. % Binary language

4. ¥ High-level language

Question Number : 7 Question Id : 25498943285 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0

ISCIEC (mnemonics) ﬁgmwm%ﬁﬁmw%
Options :

1. % ORI daw

2. ¢ AT dael

3. % IIRI oA

4. % I WY oide

Question Number : 8 Question Id : 25498943289 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
Who is known as the Father of Computer?
Options :

1. # James Gosling

2. ¥ Charles Babbage

3. # Peter Norton

4. * Tim Berners Lee

Question Number : 8 Question Id : 25498943289 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

9 T T fPd YR & o d & U T ST STl 82
Options :

1. % IRy Tl

2. ¥ T daS

3. % dlex Al

4. % oot

Question Number : 9 Question Id : 25498943290 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



is a useful and robust library for machine learning in Python.
Options :
1. ¥ Scikit-learn
2. # Macromedia flash
3. # Author ware
4. % Open SSL

Question Number : 9 Question Id : 25498943290 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Ry & i T % g IuGHTT 3R I eEsd &
Options :

1. ¥ Scikit-learn

2. % Macromedia flash

3. # Author ware

4. % Open SSL

Question Number : 10 Question Id : 25498943295 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following hardware is the internal component of computer system?
Options :

1. # Keyboard

2. ¥ Mother board

3. % DVD

4. ¥ Monitor

Question Number : 10 Question Id : 25498943295 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
frafafad # 9 & 11 g daR HueR Rived &1 3iidRk® ged g2

Options :




1. % Diars

2. ¥ AR Al

3. % SISl (DVD)
4. % Hiex

Question Number : 11 Question Id : 25498943309 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following is a part of a central processing unit?
Options :

1. # Keyboard

2. # Mouse

3.% ALU

4. % MICR

Question Number : 11 Question Id : 25498943309 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
S TRRGRU SHT 1 TP e g
Options :

1. % LS

2. % HI3YH

3. ¥ TUY (ALU)

4. % THITEUISR (MICR)

Question Number : 12 Question Id : 25498943315 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

AGP cards have a clock speed of MHz.
Options :

1. ¥ 66



2. % 33
3. %55
4. % 16

Question Number : 12 Question Id : 25498943315 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

TSI} TS b1 ailich b1 TIfdl EUIREER
Options :

1. ¥ 66

2. % 33

3. % 55

4. % 16

Question Number : 13 Question Id : 25498943284 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Windows XP is successor of which other version of Windows Operating System?
Options :

1. % Windows 8

2. ¥ Windows ME

3. % Windows 7

4. % Windows 10

Question Number : 13 Question Id : 25498943284 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Windows XP, TSI ST Riew & b gk aok &1 TadeR 27
Options :

1. #* Windows 8

2. ¥ Windows ME

3. # Windows 7



4. % Windows 10

Question Number : 14 Question Id : 25498943348 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

What is the process that spends more time on paging than on executing called?
Options :

1. ¥ Thrashing

2. % Caching

3. % Swapping

4. % Segmentation

Question Number : 14 Question Id : 25498943348 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

TS weilagfer &t gar B i & ifiies wmg aTe 7, o g wihan o dgemi
Options :

1. ¢ MRET

2. % PR

3. % wft

4. % JHTA

Question Number : 15 Question Id : 25498943350 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Fire Wire is an interface standard developed by:
Options :

1. ¥ IBM

2. # Sony

3. ¥ Apple

4. % HP



Question Number : 15 Question Id : 25498943350 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

TR IRR fhgd gRT dUR fhar T Tk St g KU s o7
Options :

1. % 3T3.&1.TH.
2. %

3. ¥ A

4. % TN

Question Number : 16 Question Id : 25498943307 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
is a device that enables a computer to transmit data over a telephone or cable lines.
Options :
1. # Primary memory
2. % Expansion slot
3. ¥ Modem
4. % Sound card

Question Number : 16 Question Id : 25498943307 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
TP IUHRT § SN LR Pl CelIhIH T had A1zl IR Scl JaRd B & J&H S g
Options :
1. % Uryfiep TR (UTSHR) AER)
2. % TIHURH WilC
3. ¢ HigH
4. % IS IS



Question Number : 17 Question Id : 25498943319 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which one of the following is an impact printer?
Options :

1. # Inkjet

2. ¥ Dot-matrix

3. % Laser

4. % Thermal

Question Number : 17 Question Id : 25498943319 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
o 9 319 T S0 (@ug) e 82
Options :

1. % gPpoic

2. ¢ Sle-dfeam

3. % UOR

4. % yAd (@)

Question Number : 18 Question Id : 25498943320 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
Android OS is a(n) operating system.
Options :

1. ¥ Open source

2. % Microsoft’s

3. % Apple’s

4. % MAC

Question Number : 18 Question Id : 25498943320 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0
Android OS Udh STRIET ReeH %I
Options :

1. ¢ 39 I

2. # Microsoft's

3. % Apple's

4. ¥ MAC

Question Number : 19 Question Id : 25498943324 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
In CAT 5 Ethernet cable, CAT stands for:
Options :

1. % Catalyst

2. ¥ Category

3. # Type

4. % Cable

Question Number : 19 Question Id : 25498943324 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

CAT 5 SURAC Hadl H, CAT BT 372 &1 §idll 82
Options :

1. % IIRF (Pfoe)

2. ¢ 90ft (BTN

3. % YR (CIRY)

4. ® HId (had)

Question Number : 20 Question Id : 25498943325 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



What is the Hotspot?

Options :

1. ¢ Installing an access point
2. % Installing a device

3. % Installing a software

4. ® Installing a security policy

Question Number : 20 Question Id : 25498943325 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
gicTic o1 gidT 82

Options :

1. ¢ UdEY Use S%Td B aTdl

2. % {SaY XA B ardl

3. % GTeddR SXeId B ardl]

4. % JRE A ST HIA ara

Question Number : 21 Question Id : 25498943336 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

If RAM gets faulty

Options :

1. ¥ computer may freeze instantly while working or may not turn on at the startup.
2. ® monitor will not turn off.

3. # gsystem will work with the help of Hard Disk.

4. ® system will work with the help of cache memory.

Question Number : 21 Question Id : 25498943336 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
3R RAM GIvquf g1 o1 a:

Options :



1. ¢ SR HH HRd 1T T 94 8 bl § 1 T3 W d1e Ta! 81 Il g |
2. % AR §¢ 81 g

3. % Ry g1 3% &l Aag ¥ &9 S|

4. % R & AR &1 Hag I HIH BT

Question Number : 22 Question Id : 25498943279 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
stands for modulator and demodulator.
Options :
1. % CPU
2. ¥ RAM
3. ¥ Modem
4. ® Router

Question Number : 22 Question Id : 25498943279 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

_ ®r e g AIgaeR SR SHIgaex|
Options :

1. % HE Uh T U (1 q )

2. % grefwse U Ffd (RAM)

3. ¥ HigH

4, % IA3R

Question Number : 23 Question Id : 25498943293 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
Gaining access to a file or Web server using someone else's account or other methods is known as:
Options :

1. % unauthorized access



2. # legitimate access
3. % authorized access

4. % authentic access

Question Number : 23 Question Id : 25498943293 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

forl} 3 & WA BT YA HR 37al frdt S A A BRA WM IT IR TH Uga M dRA B HaI Sl gl
Options :

1. ¢ 3P Ugd

2. % 3YUgd

3. % 3fIPpd uga

4. % YEIUG Ugd

Question Number : 24 Question Id : 25498943294 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Verification of a Login name and password is known as
Options :

1. # Configuration

2. % Accessibility

3. % Logging in

4. ¥ Authentication

Question Number : 24 Question Id : 25498943294 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

A 19 3R UT9ds &1 JTgH & ¥U H ST 1 g
Options :

1. % BIPIRIA

2. % TRIffefec




3. % QAN ST
4, + JfeHA

Question Number : 25 Question Id : 25498943296 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

OpenOffice.org saves files in the by default unless told otherwise.
Options :

1. ¥ Open Document Format

2. % PDF

3. % Text Format

4. # Rich Text Format

Question Number : 25 Question Id : 25498943296 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

OpenOfﬁce.org%WT?C’Fqﬁi A HIsAl &) Jeoldl § Sd d o 3T I8! ST T 8|
Options :

1. ¢ 3{Iu ﬁaqﬁ'c' Wi (Open Document Format)

2. % GISIUB (PDF)

3. % TR BiHc (Text Format)

4. % g TRe Wide (Rich Text Format)

Question Number : 26 Question Id : 25498943306 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
Which of the following is the odd one?
Options :

1. # Inkjet printer

2. % Laser printer

3. # Dot matrix printer



4. ¥ CRT

Question Number : 26 Question Id : 25498943306 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
fFafied & 9 319 91 SR 57
Options :

1. ® gpoic iR

2. % ToR flick

3. % e Ay fifex

4. ¢ TR (CRT)

Question Number : 27 Question Id : 25498943314 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Compression ratio of compression is higher than compression.
Options :

1. ® binary, hexadecimal

2. ¥ lossy, lossless

3. # Jossless, lossy

4. % reversible, irreversible

Question Number : 27 Question Id : 25498943314 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

 JddleTwmddieT g SdeA 9 i@ gl gl
Options :

1. % SR, gRITSHHd

2. ¢ AN, A

3. % QoY A

4. % tadeq, RRNGAeqd wfdadt, saikad-)




Question Number : 28 Question Id : 25498943299 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following printers is widely used in aerospace, archaeology & biotechnology fields for the purpose of rapid prototyping?
Options :

1. # Laser

2. % Dot Matrix

3. # Inkjet

4.+ 3D

Question Number : 28 Question Id : 25498943299 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

e UieteTR it & it TR, qRIA@ QR 31R SId WRIRID! & &3 § B 7 fUiex JATUe U o YA foa1 STl 62
Options :

1. % doR

2. % gle Ofea

3. % Fpolc

4. % 3D

Question Number : 29 Question Id : 25498943338 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following best describes Windows XP?
Options :

1. ¥ Multitasking operating system

2. # Real-time operating system

3. % Application software

4. ¥ Adware

Question Number : 29 Question Id : 25498943338 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is



Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

9 & ¥ DI AT Windows XP BT TG 3BT GUM BT 67
Options :

1. ¢ ARG TRIET RieH (Multitasking operating system)
2. % gRdfdd THY TR RieeH (Real-time operating system)
3. ® G‘HCRZhTT UfohaT AR (Application software)

4. ® TEAW (Adware)

Question Number : 30 Question Id : 25498943339 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
is a utility that allows a computer user at one site to make a connection, login and then conduct work on a computer at another site.
Options :
1. ¥ Telnet
2. # Telnetwork
3. % Telephonenet
4. ® Nettel

Question Number : 30 Question Id : 25498943339 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

TS geferct § Sl fordll e golk ¥ U WIge IR H+aRM &1 & QMM B 3R 3P d1¢ ford! ga! uree R el ey )
BT I FaTferd B BT AR ol 8

Options :

1. ¥ Telnet

2. % Telnetwork

3. # Telephonenet
4. % Nettel

Question Number : 31 Question Id : 25498943280 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0

The e-commerce domain that involves business activity initiated by the consumer and targeted to businesses is known as:
Options :

1. % Consumer to Consumer (C2C)

2. # Business to Business (B2B)

3. ¥ Consumer to Business (C2B)

4. # Business to Consumer (B2C)

Question Number : 31 Question Id : 25498943280 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

98 3-HTHY ST 1 HedTdl | FoTH SUHIGT gRT Y[ &1 T3 AT Tarafe e gt 8 3R ORI I SIaur &A1 gidl 82
Options :

1. % Il ¥ SUHIedT (C20)

2. % AU Y a9 (B2B)

3. ¢ JUHIGAT ¥ STa9 (C2B)

4. % Y Y IYHIHIT (B2C)

Question Number : 32 Question Id : 25498943286 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

By using which option can one add a subtitle in a Word document?
Options :

1. # Clipboard

2. ¥ Styles

3. * Font

4. # Paragraph

Question Number : 32 Question Id : 25498943286 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



fohr <t fahed &1 IUTNT b I SIagHc T IURMYS ST ST Yl 52
Options :

1. % fFquars

2. ¥ WA

3. % g

4. % TRTUTH

Question Number : 33 Question Id : 25498943287 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following short cut key is used to open insert tab in MS-PowerPoint 2019?
Options :

1. # Ctrl + Shift+ D

2.¥ Alt+N

3. % Ctrl + A

4. % Ctrl +E

Question Number : 33 Question Id : 25498943287 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

MS PowerPoint 2019 & 5&45%_&' C N %%Eﬁyﬁﬁ%mﬁmwmw%v
Options :

1. # Ctrl + Shift+ D

2.9 Alt+N

3. % Cul+ A

4. % Ctrl+ E

Question Number : 34 Question Id : 25498943297 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
For which of the following purposes is WhatsApp NOT used?
Options :



1. ® To send instant messages

2. % To send a file

3. ¥ To upload short video clips on web
4. ® To do voice talk

Question Number : 34 Question Id : 25498943297 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
mﬁﬁm@W%mWhatSAppquﬁmwg?
Options :

1. % $C TS Yo & g

2. % fobdfl BId I WM & oy

3. 99 IR oY ISl faey 3uelie o & fere

4. % 9i3Y lh P &b felw

Question Number : 35 Question Id : 25498943302 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
The following figure shows that the user is customising the in MS Word 2013.



FILE HUME INSERT DESIGN

H :J :_‘h_ﬁ Orientation = *— Breaks -
“"_ |I—L_| Size - i1 Line Numbers -
Margins 2
- == Columns ~ bc Hyphenation -
: Last Custom Setting
1 1 Top: 1 Bottornm: 1"
Left: 4 [—‘!.g!‘lt' 1
- ; MNormal
‘i'_ Top 1 Bottom: 1
FH——i1 | Left 1 Right: 1
o : MNarrow
] | Top: 0S5 Bottorm: 0.5 1
i Left: 0.5 [:} Right: 0.5°
Moderate
Top 1 Bottom: 1
Left 0.75 Right: 0.75" |

Options :

1. # size of the document
2. ¥ margins

3. % page orientation

4. ® font size

Question Number : 35 Question Id : 25498943302 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

g o <wifan § fF goR MS Word 2013 # DI 3T TIIHATTIR JHRANIT HR BT ] |



FILE HUME INSERT DESIGN

:J' 1‘1 Orientation = *— Breaks -
B 1) Size - 0] Line Numbers -
Margins {
- == Columns ~ bt Hyphenation =
Last Custom Setting
1 Top 1 Bottom: 1
| | Left: 4 Right: 1
| Normal
| Tor Bottom:
_ af Righ
MNarrow
Top: 0.5 Bottorm: 0.5 1

Left: 0.5 [ Right: 0.5°

Moderate
Top 1 Bottom: 1
Left 0.75 Right: 0.75

Options :

1. % SRHC & AHTHR
2. ¢ TR

3. % U9 S{IRUCRH

4. % ol & AHR

Question Number : 36 Question Id : 25498943304 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

What is the maximum number of lines one can set for a drop cap in MS Word 2013?
Options :

1. # Undefined

2. % 20

3. %15

4. v 10

Question Number : 36 Question Id : 25498943304 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is



Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

MS Word 2013 H S0 &1 & foTT farait @8 Ic &1 I Ihall 82
Options :

1. % MR

2. % 20

3. % 15

4.9 10

Question Number : 37 Question Id : 25498943310 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
command shows revisions in a separate window in MS Word 2013.
Options :
1. # Track Changes
2. # Balloons
3. ¥ Show Markup

4. ¥ Reviewing pane

Question Number : 37 Question Id : 25498943310 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

MS Word 2013 HHis Rdiog ol U 3rer f[Je! & guifar g1
Options :

1. % ¢ ol

2. % S

3. % QNGB

4. ¢ FegfdnOa

Question Number : 38 Question Id : 25498943322 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0

What is/are the number of options in Create Group in the Mailings tab in MS Word 2007?
Options :

1. # One

2. ¥ Two

3. % Three

4. % Four

Question Number : 38 Question Id : 25498943322 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

MS Word 2007 § AfeiT 29 & fapue Ju & fran fasey fisg g1 82
Options :

1. % Th

2.3

3. % diF

4, % IR

Question Number : 39 Question Id : 25498943341 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

What is the position of insertion point when we open a document in MS Word 2013?
Options :

1. # Bottom corner of the page

2. % Top left corner of the page

3. ® Top right corner of the page

4. ¥ It disappears

Question Number : 39 Question Id : 25498943341 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
MS Word 2013 & {3l STagiic &1 Wiem W 939 ulse o fufa s g 82




Options :

1. % UG o I B

2. ¢ Ul & SWI S B H
3. % US & BRI Gl i A
4. % g IS B o1l ©

Question Number : 40 Question Id : 25498943282 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

In Gmail, media sharing and gaming platforms come under which of the following tabs?
Options :

1. ¥ Primary

2. % Promotions

3. ¥ Social

4. % Forums

Question Number : 40 Question Id : 25498943282 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Hifsar AT 3R TR WHIRT Gmail & 69 ¢9 & Sfald sird g°
Options :

1. % e

2. % JHIRH

3. ¥ WA

4. % BRA

Question Number : 41 Question Id : 25498943291 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
Payment address in BHIM is used to:
Options :



1. ¥ uniquely identify the person's bank account
2. # uniquely identify the person's PIN id
3. % uniquely identify the person's password

4. ® uniquely identify the person's recurring deposit account

Question Number : 41 Question Id : 25498943291 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Mg BHIM) F0Hc TgU HTIUENT & fougarg|
Options :

1. ¥ Afad & db Wi B A MZafed!

2. % e & U7 TS B g 3Mgsiedt

3. % fqd & Uds P g IMgsfect

4. % i o fSUINIC WId Bl (b 3MMgsiect

Question Number : 42 Question Id : 25498943292 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
chart is mostly useful in the scientific and engineering arenas in MS Excel.
Options :
1. #® Stock
2. ® Radar
3. # Pie
4. ¥ Scatter

Question Number : 42 Question Id : 25498943292 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
MSEXCCIﬁW@WW%W%WWz aﬁt&r@ﬂ%’l
Options :

1. % KD



2. % TER
3. % OIS
4. & WP

Question Number : 43 Question Id : 25498943305 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
Select the pagination control in the Line and Page Breaks tab in MS Word 2013 to fill in the blank.

is used to prevent Word from inserting automatic page breaks between paragraphs.
Options :
1. ¥ Widow/Orphan control
2. # Page break before
3. ¥ Keep with next
4. ¥ Keep lines together

Question Number : 43 Question Id : 25498943305 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

ﬁﬁﬁﬂﬂ%ﬂﬁﬁ%%ﬁMS Word 2013 ﬁ?‘l'l?g:f @Tﬁﬁ%%ﬁﬁﬂﬁﬂﬁm(pagination) OD,C\\IQ'I Ca L‘Istll:l.l
IS BIsd § IRIH & &9 Wa: S DI A P oY ST ST gl 5|

Options :

1. % fa8I/3{th= deld
2. % U9 o [qR

3. ¥ $iU fdg ARe

4, % PIU AR A

Question Number : 44 Question Id : 25498943308 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
also converts common text shortcuts into their proper characters in MS Word 2016.



Options :

1. ¥ AutoCorrect

2. # Auto Capitalization
3. % Auto shortcuts

4. ¥ Auto check

Question Number : 44 Question Id : 25498943308 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

MS Word 2016 Y ImHg TRe Widdhe &I 30 UIIR Heaer H gRafdd Har |
Options :

1. ¥ IS B

2. % 3] HlUcAEoRH

3. % 3ficI Wiéae

4. % 3l db

Question Number : 45 Question Id : 25498943311 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

While removing the column formatting, we can place the insertion point the columns in MS Word 2016.
Options :

1. ¥ anywhere in

2. % at the beginning of

3. # at the end of

4. # at the middle-most part of

Question Number : 45 Question Id : 25498943311 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
MS Word 2016 H BIaH BIH T HI geld G0, §H SR Ulse I HIad ESCRSE ]

Options :




1.« A dol oI
2. % PHI LAY
3. % & 3fdH
4. % HAHITH

Question Number : 46 Question Id : 25498943312 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

How many different ways are there to create a table in MS Word 2013?
Options :

1. * One

2. % Two

3. % Three

4. ¥ Seven

Question Number : 46 Question Id : 25498943312 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

MS Word 2013 H 8T I (create) P fha aild &2
Options :

1. % Up

2. % T

3. % diF

4. ¥ {id

Question Number : 47 Question Id : 25498943340 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

of a PivotTable in MS Excel 2007 shows items from different row area fields in one column and uses indentation to distinguish between
the items from different fields.

Options :
1. ¥ Compact Form



2. % Design Form
3. % Tabular Form

4. % Qutline Form

Question Number : 47 Question Id : 25498943340 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

MS Excel 2007 H $51T ¢ad Pt fafta 3 ufear Wi § U HiaH H 3ser & il 8 iR fafis wics & 3ised & o9 3R
B & 1T TS BT IUTNT B g |

Options :

1. ¥ Hidae BIH
2. % S Wi
3. % CgER BIH

4. % I3IcATS BIH

Question Number : 48 Question Id : 25498943342 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following is a page orientation in MS Word 20167
Options :

1. ¥ Landscape

2. % Legal

3. ® Narrow

4. % Wide

Question Number : 48 Question Id : 25498943342 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
FAfRad o ¥ M |1 MS Word 2016 HT THh UsT SHIRTCIH &2
Options :

1. ¢ deWhy



2. ® WA
3. % R
4, % 9138

Question Number : 49 Question Id : 25498943303 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

In a Page Setup dialog box of MS Word 2007, the Margins tab is divided into group(s) of control(s).
Options :

1. # one

2. % two

3. % three

4. ¥ four

Question Number : 49 Question Id : 25498943303 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

MS Word 2007 3 UST Ye3d SIANT Sia § AT ¢ &I deld & BEEEEIERCIE
Options :

1. % Uh

2. % T

3. % diF

4, ¥ IR

Question Number : 50 Question Id : 25498943321 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

To perform a Thesaurus check on a selected word, which shortcut is used in MS Word 2007?
Options :

1. % SHIFT + F7

2. % CTRL +F5



3. # SHIFT + F6
4. %= SHIFT + F8

Question Number : 50 Question Id : 25498943321 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

MS Word 2007 ¥ bt Tafd Weg &t FUGRY Sita & forg, e =iicape &1 v foar ol 82
Options :

1. ¥ SHIFT + F7

2. % CTRL + F5

3. * SHIFT + F6

4. * SHIFT + F8

Question Number : 51 Question Id : 25498943323 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

The Preview Results group of features under Mailings is applicable in which of the following steps in the mail merge process in MS Word 2016?
Options :

1. * Third

2. ¥ Fifth

3. % Sixth

4. * Fourth

Question Number : 51 Question Id : 25498943323 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

MS Word 2016 31 B A (merge) Ufshar § AR & idvid W o1 ey Refee THg g ==01 & o1 g1 82
Options :

1. % R

2. ¢ Uiad

3. % B



4, % Y

Question Number : 52 Question Id : 25498943351 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

The quality of the stream in internet depends on the used in encoding.
Options :

1. ¥ bit-rate

2. * block-rate

3. * mono-rate

4. % dual-rate

Question Number : 52 Question Id : 25498943351 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

ThITE H UG $exc § K &1 {ura R MR g gl

Options :
1. ¥ fee e
2. ® &l I
3. % gHIC
4. % SIAC

READING COMPREHENSION
Section Id : 2549895057
Section Number : 2
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 1
Number of Questions to be attempted : 1

Section Marks : 5



Display Number Panel : Yes

Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 2549895098
Question Shuffling Allowed : Yes

Question Id : 25498943330 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (53 to 57)
Read the following passage and answer the questions:

Teachers’ Day

In India, 5t September is celebrated as Teachers’ Day as a mark of tribute to the contribution made by teachers to the society. 5th September is

the birthday of a great teacher, Dr. Sarvapalli Radhakrishnan, who was an advocate of quality education, and a well known diplomat, scholar and,
above all, a great teacher. When Dr. Radhakrishnan became the President of India in 1962, he was approached by some of his students and
friends, who requested him to allow them to celebrate 5th September, his birthday. In reply, Dr. Radhakrishnan said, “Instead of celebrating my

birthday separately, it would be my proud privilege if 5th September is celebrated as "Teachers’ Day". This request showed Dr. Radhakrishnan’s
love for the teaching profession. Since then, the day is observed as Teachers’ Day in India.

Teachers mould and influence the lives of their students because their teachings stay with the students throughout their lives. Hence, we should
always respect our teachers. Besides, teachers need encouragement and support from the community to get some kind of assurance that their
devotion to students is being appreciated. Teachers’ Day is one day that is eagerly looked forward to by both teachers and students alike. On this
day, students dress up and take on the role of teachers and take classes as student teachers. Apart from the fun aspect of the dayj, it is also a day

when one can look back, admire, and get inspired by Dr. Radhakrishnan, a small town genius boy who grew up to be one of the most respected
teachers in the history of India.

No wonder he believed — ‘A good teacher is like a candle which consumes itself to light the way for others'.
Sub questions

Question Number : 53 Question Id : 25498943331 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
Dr. Radhakrishnan’s birthday is observed as Teachers’ Day because
Options :

1. # he was the President of India.



2. ¥ he was a great teacher.
3. % he was a genius.

4. ® he respected his teachers.

Question Number : 54 Question Id : 25498943332 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following is NOT true about Dr. Radhakrishnan?
Options :

1. # He was an able diplomat.

2. # He believed in quality education.

3. ¥ He was an advocate.

4. ¥ He was a well-known scholar.

Question Number : 55 Question Id : 25498943333 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

The main objective of celebrating Teachers’ Day is to
Options :

1. # let students dress up like teachers

2. % [et students take classes like teachers

3. % encourage children to become teachers

4. ¥ show respect and appreciation for teachers

Question Number : 56 Question Id : 25498943334 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

In the context of the passage, a good teacher has been compared to a candle because he
Options :

1. # plays an important role in a student’s life.

2. ¥ labours hard to help and guide his student.

3. % is an important source of knowledge.

4. # plays a very useful role in the society.



Question Number : 57 Question Id : 25498943335 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
We should respect our teachers because
Options :

1. # they are our elders.

2. ¥ they shape a student’s life.

3. % it is our duty to respect them.

4. % it is part of the Indian tradition.

Question Id : 25498943330 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (53 to 57)

fafafad mam o ufeu iR usl & IR v
fRrefen foad

HRA H, 5 Ryder & fe/ep! gRT 99 # fohT 7T AivTe™ & folu Ygisiier & Ueier & U H e feaq aamn siar g1 5 Rder ue 7gH
fRrerep 7. YU AUTHWH BT STl 8, S ToraaraRe e & J0de 3, 3R uftig o, fag iR te AeH fRee 31 od 1962 &
ST, MG HR & TR 5, Al I7eb o faenfial ik el 3 I+ Tueh foba, fSrgia 318 SRty foban fas o 5 Ry, S+1ep
ST FATE | STaTd | ST TUTHUME o Hal, "HRT STHGH e I A o o, I8 IR o 7Td &1 §1d 8T, 3R 5 Rder "Riere feaa
%Kgﬁﬂtﬂﬁﬁ%lgﬂ&ﬂﬁﬁﬁf&ﬂﬂﬁ%ﬁﬁ RIYTHUHE o TR HI fG@mn| 99 4, I8 e URa & Riere fdaw o =u 4 7=m
ST gl

fRrerep 3rom faenffa & S &1 aTal 3R uHIfad BRd & wiifer et Riemy R Sita= & fyenfifal & ary <t €1 gafery, a8 gawm ama
et T T BT AT | THD 31T, FRIed! & T I Uieiied & 3R 0T o1 sTawadhdr & o for 9 sy 8 f
foremfia & Ufc Sich THU0T &1 ARTET o1 XGT 5 | e feaw Uer U & & et Sgear § gl iR faenfiat g & ok Ygd 8|
39 o, faemeif g gl Jerysr «Rur #Rd § 3R e &1 yftrer Fumd § 3R e gl & w0 # s dd §1 59 i3 8 wnfte
3{TE & TTY-1Y T8 Teb U1 a1 Hi 81l § 519 fa U 48 B @ Ahdll 6, 3R IRTGT HRdl §U SF. AUTHUM & TRUM IR HR Fabell
g, Ol f Te B | WER & UAHTITEH ST & off 98 gl HRd & 38 & Ja8 T fR1ep! & ¥ T & =0 # RI1fUd gu|

8 P18 off anerf 7Y § Y a8 A A BT - U 33T RIefeh T AHe o1 81T § Sl WG &1 ofcll R GaR] Bl YT aar g !

Sub questions




Question Number : 53 Question Id : 25498943331 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

&1, AUIHUM BT ST g fGas & &0 § - S § i
Options :

1. % d YR b APUfd |

2.+ 4 U HEH e |

3. % q gfryTRITe 9|

4. % Jgi4 31U fRrefep! o1 I foba|

Question Number : 54 Question Id : 25498943332 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

frafafed & @ o 8. TUIHwH & IR H I 781 82
Options :

1. % d TP W& IS U1

2. % J TUIGHIURS fR1& H fayrg $d Y|

3. ¥ 4 T TSdlae Y|

4. % 3T HBAG fienfag |

Question Number : 55 Question Id : 25498943333 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

et & 3 o1 S A T T I£ 3T T 82
Options :

1. % faefidl &1 g &1 ae TR A <

2. % faFTRi} 1 Rigfe] B TRE HEM A 3 |

3. % gl Bl &b T4 & fo1T Ui d B |

4. gt & FoIT ToI faRamT SR ST TR =T

Question Number : 56 Question Id : 25498943334 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is



Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

uRwse & e H, U o I &1 JarT Himexi ¥ &1 ol § i a8
Options :

1. % faemdf & e & U Heayul YA AT g

2. ¢ U faemf & Hag SR ATGRM $RA & ol 9gd UReH aRd g

3. % Y &1 T Hgayuf A 5|

4. % AT H UH 9gd gt Suanh Yt Ay |1

Question Number : 57 Question Id : 25498943335 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

g1 30 fR1efdb] o1 T BT d1feT Hifs
Options :

1. % I AR g1 G

2. ¢ 3 faanffat & Sfiga &) emPR 3d B

3. % JAPHT G BT §HRT Had g |

4. % g YR W &1 fg=an gl

QUANTITATIVE APTITUDE
Section Id : 2549895058
Section Number : 3
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 6
Number of Questions to be attempted : 6
Section Marks : 6
Display Number Panel : Yes
Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1

Sub-Section Id : 2549895099



Question Shuffling Allowed : Yes

Question Number : 58 Question Id : 25498943318 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
Evaluate the following

534.596 + 61.472 — 496.708 = ? + 27.271
Options :

1. % 126.631

2. % 62.069

3.9 72.089

4. % 132.788

Question Number : 58 Question Id : 25498943318 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
fferRad 1 JedicT B

534.596 +61.472 —496.708 =? +27.271
Options :

1. ¥ 126.631

2. % 62.069

3.9 72.089

4. % 132.788

Question Number : 59 Question Id : 25498943344 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
Evaluate the following expression. (You are not expected to calculate the exact value.)
3 6 1

2—X4-XT==7
10777772



Options :
1. % 068

2. % 72
3 #% 93

4. 84

Question Number : 59 Question Id : 25498943344 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

AT s FT g | (TR HF AT T IF0EAT A8l HET 21)
8 6 el

2 XAs X T = =7

Options :

| = B8
% 12
3 ® 93

4. v 84

Question Number : 60 Question Id : 25498943316 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Sonika invested an amount of X 5800 for 2 years. At what rate of compound interest (in case of annual compounding) will she get an interest
0t 3594.50 at the end of two years?



Options :

1. ¥ 5 pcpa
2. #% 4 pcpa
3. % 6 pcpa
4. % 8 pcpa

Question Number : 60 Question Id : 25498943316 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Wﬁ%@ﬁﬁﬁzﬁ%%ﬂﬁaﬁml Thdig TS DI [y &R W (AP Ahqfa & HTHN H) 34 2 a4 & 3fd T 594.50
&1 TS ?

Options :

1. ¢ 5% dIN®
2. % 49 dIN&H
3. % 6 dIN®
4. % g, qIV®

Question Number : 61 Question Id : 25498943317 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
In the following number series only one is wrong. Find out the wrong number.

33 321 463 337 373 - 590NE00

Options :
1. ® 321

). % 465

73

N

3. %



4 & 590

Question Number : 61 Question Id : 25498943317 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

frafafla 5T STe # Fad UF GCdl 7Ted gl I8 A0 HEAT Hid A 87

33 321 465 bB37 573 550 600

Options :
| % 321

5 % 465
;% 573

4 v 590

Question Number : 62 Question Id : 25498943345 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Evaluate the following (You are not expected to calculate the exact value)

V8938 x (5.96)% =?
Options :
1. % 3030

5 % 3780



3 % 2340

4 & 3400

Question Number : 62 Question Id : 25498943345 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
et & Heaieha T (MU T AT Fr 0T FE F= El)
V8938 x (5.96)* =7

Options :
| % 3050

, % 3780
3 % 2340

4 v 3400

Question Number : 63 Question Id : 25498943346 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

A and B together can complete a task in 20 days. B and C together can complete the same task in 30 days. A and C
together can complete the same task in 40 days. What is the ratio of the number of days taken by A when completing the
same task alone to the number of days taken by C when completing the same task alone?

Options :
1. % 2:5

o % 2:7



et
8
r__u
et |

b

4
—_
A

Question Number : 63 Question Id : 25498943346 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

A 3R B fee & &3 &1 20 e & qU & @& 81 B 3R C ey 38 & &1 30 fga & qu &<
THd g1 A 3R C Bee 38 13 @ 40 fe & 90 & ¥ed 81 A 3R C g3 38 1 & Heser 9
= # fw 7w et &1 g 2w g2

Options :
1. % 2:8
2. ® 2 : 7
3. &% 3z
4. & 1:5

GENERAL MENTAL ABILITY AND REASONING
Section Id : 2549895059
Section Number : 4
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 6

Number of Questions to be attempted : 6



Section Marks : 6

Display Number Panel : Yes

Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 2549895100
Question Shuffling Allowed : Yes

Question Number : 64 Question Id : 25498943327 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Three words are given, which are related in some way. Select the option in which the three words are related in the same way.

Carnivorous : Tiger : Wolf
Options :

1. ¥ Mango : Banana : Fruit

2. % Office : Teacher : Manager
3. #® Cat: Cow : Milk

4. ¥ Planets : Mars : Jupiter
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Select the term that has the same relationship with the third term as the second term has with the first term.

acE :bdF :: fh):?
Options :
1. ¥ giK
2. % ghK
3. % dfH
4. % fhL
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Options :
1. ¥ giK
2. % ghK
3. % dfH
4. % fhL
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Deciduous is related to Willow in the same way as Coniferous is related to:
Options :

1. # Lime

2. % Spruce

3. % QOak

4. % Elm
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Select the alternative with the most appropriate description about these three words.

Rickets : Scurvy : Beri-Beri

Options :

1. % They are insects.

2. % They are infectious diseases.

3. % They are diseases caused by deficiency of vitamins.

4. ¥ They are diseases caused by certain insect bites.
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In each of the following, four words have been given, out of which three are alike in some manner, while the fourth one is different. Choose out
the odd one.

Options :

1. # Verse

2. % Rhyme
3. #® Couplet
4. ¥ Rhetoric

Question Number : 68 Question Id : 25498943329 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

2 fap et § TR Teq feT T & o T A fooh UpR A U O §, Safe T 379 fie g1 39 el Weg b1 Ug== e |
Options :

1. % Hiddm

2. % Jobddl

3. % GGl

4. ¥ R[eq[SHIR
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There is a certain relationship between the first two words. Select the correct option which has the same relationship with the third word.

Seclusion : Solitude :: Intruder : ?
Options :
1. # Outcast

2. # Privacy



3. ¥ Infiltrator
4. % Alms
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Options :
1. ® gfgspd
2. % ORI
3. ¢ gaufgar
4. % flyar
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Moscow 1980 Olympic Games, athletic festival held in Moscow that took place July 19 — August 3, 1980 were the occurrence of the
modern Olympic Games.

Options :
1. ® 15t
2. % 17th
3. ¢ 19th
4, % 18t
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Options :

1% 1530
2. % 1741
3. ¢ 199
4. % 2@
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Where is Mt Waialeale, one of the heaviest rain fed (11990 mm in a year) places in the world, located?
Options :

1. # Brazil

2. ¥ Hawaii

3. # Philippines

4, % Sulawesi
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Question Mandatory : No
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1. % Solle

2. ¥ gdlg

3. ® fihoiidig

4. % a9
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A labour intensive industry is one that:
Options :

1. #® requires more hard work.

2. ® pay adequate wages to the labour.
3. % employs more hands.

4. ® provides facilities to labour.
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In India, the state known for its sandalwood is:
Options :

1. ¢ Karnataka

2. % Assam

3. % Kerala

4. ¥ West Bengal
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1. ¥ PlcH
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Which of the British Officials defeated Portuguese at Sowlley?
Options :

1. # William Hawkins

2. % Thomas Best

3. % Thomas Roe

4. # Josiah child
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Larva of house fly is called:

Options :

1. # Pupa

2. # Imago

3. % Maggots

4. # Telson
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Question Number : 76 Question Id : 25498943354 Question Type : TYPING TEST Display Question Number : Yes

Summer camps are supervised camps conducted to entertain as well as equip students with various life skills such as teamwork,
socializing, decision making, independent and responsible living and more. It aids the overall development of a child and children have
fun during this process as they get to explore new arenas.
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Solar energy is radiant light and heat from the Sun. It is harnessed using a range of ever evolving technologies such as solar heating and
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solar thermal energy. Solar architecture and molten salt power plants along with artificial photosynthesis are some other upcoming areas
of harnessing solar energy in which research is being done. Solar energy is an essential source of renewable energy. Its technologies are
broadly characterized as either passive solar or active solar depending on how they capture and distribute solar energy or convert it into
solar power. Active solar techniques include the use of photovoltaic systems and solar water heating to harness the energy. Passive solar
techniques include orienting a building to the Sun selecting materials with favourable thermal mass or light dispersing properties and
designing spaces that naturally circulate air. The large magnitude of solar energy available makes it a highly appealing source of
electricity. Few years later the International Energy Agency said that the development of affordable and inexhaustible plus clean solar
energy technologies will have huge, longer term benefits. It will increase energy security of countries through reliance on an indigenous
and inexhaustible as well as mostly import independent resource. It will enhance sustainability which will reduce pollution and lower the
costs of mitigating global warming. Furthermore, it will keep fossil fuel prices lower than otherwise. These advantages are global. Hence
the additional costs of the incentives for early deployment should be considered learning investments. They must be wisely spent and
need to be widely shared. Approximately a third of the radiation from sun is reflected back to space while the rest is absorbed by clouds
and oceans or land masses. The spectrum of solar light at the surface of the earth is mostly spread across the visible and near infrared
ranges with a small part in the near ultraviolet. Warm air containing evaporated water from the oceans rises above causing atmospheric
circulation or convection. When the air reaches a high altitude where the temperature is low water vapor condenses into clouds. These
clouds then blown by wind currents rain onto the surface of the earth completing the water cycle. The latent heat of water condensation
amplifies convection producing atmospheric phenomena such as wind and cyclones or anticyclones. Sunlight absorbed by the oceans and
land masses keeps the surface at an average temperature of fourteen degree Celsius. By the process of photosynthesis green plants
convert solar energy into chemically stored energy which produces food and wood. It also produces the biomass from which fossil fuels
are derived. The total solar energy absorbed by earth atmosphere and surface including oceans and land masses is approximately three
million exajoules per year. This was more energy in one hour than the world used in one year. Photosynthesis captures approximately
three thousand exajoules per year in biomass. The amount of solar energy reaching the surface of the planet is so vast that in one year it
is about twice as much as will ever be obtained from all of the non renewable resources of the earth. Such as coal and petroleum or
natural gas and mined uranium combined. The potential of solar energy that could be used by humans differs from the amount of solar
energy present near the surface of the planet due to various other factors.
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